ERBAICETAIF—DERKRRERBAZTORRICOVT(FH28FE)

17 = = SN | AIDEEAEE .
%5 &&t| sFTs o RLUTE
£ | En g8 TR | PC#L XDV | FRSEFH y
8 241 e | D4R 2 i F P SRR A
iy |HiER [ER
ETFHFIE= AR 3 7 =) =) (=) (=)
X =1 |- 0
[ o PR i
- |FARTFRAZ AR 0 5 =) (=) =) =)
68 | & =0 |- 4
H P F 0
24H YIhTH = IR 1 1 ) =) =) =)
HH |- 0
IE=E 0
9 [FIF-R 0
B [F55<4 =B 0
HhIREZ_E 0
RPN |- 7Y e T E
ESFHFIS= IR 1 4 ) (=) =) =)
=0 |- 0
. . [AX 0
R lrarrges= PR ERT 0 14 © ) ) )
] =8 |- 14
- . AR 0
AT |wFess REIZZT 8| o =) ) -)
=8 |- 3
2508 = =
— |mm R
Y5 = AR 2 8 (=) (=) =) =)
HH |- 0
&= 0
% | FIEZRE 6
R |FSSTYIZRE 0
HhIIE g 0
Ealrarrres= PR 0] o ) ) )
88 . =0 |- 2
TRz 0
128 | % [(FR54=RE 1,230
H(FSSIE-E 0
HIRE_E 0
. N mm }Z 0
TN FIE= IR 0 1 =) ) ) =)
HH |- 1
. . AR 0
R lrarrges= P2 EET 0 o =) =) )
; =8 (- 9
. . [AX 0
SR | & |x7ey= REZST 0 8| o -) -) -)
-H-E — 3
158 -
— P F 2
yehvsz 721 1 3 © ) ) “)
=8 |- 0
TEZE 0
| FE=RE 30
H(FSSIEZRE 0
hOIEZ =R 0
E 1 HAED—BLELTEEMROUMTHEL-IA ORI RVHEREDRERRESELLTABALTWET,

2 ERRUSBOENDOERIEITEEEA,

3 HHROFRFREEEELTLELE A,

4 BEANRIITROBEREEL, BIEE(+), EHEEE () TRRLTVLET,
FLBEENEE - FB B o T T
A AKLBEEN, 8 LATF 7 A, ay— (LB

RLYT SRR
TA LI, (Bl
“SFTSVA /LA

FE B /MR E (5
Z = PERG ST A LA

Vs LN EDS

1/3



ERBAICETAIF—DERKRRERBAZTORRICOVT(FH28FE)

b = - AN | fTBIEEE 5
%5 A& SFTS RLU7E
& |EH BE PRI | T3k oML | FSaE ;
5 EX B | YMILR E Yy SRR
e B o | AR 0
Ea ey RBZ2T 0 8| -) -) -)
98 . =8 |- 3
IE=B 0
2H % [FREZRE 471
R [FSSTRE-RE 0
HhIRE_E 0
i . AR 1
Eolrtrrres= PR o o =) -) -)
. =8 |- 2
- . [AXR 0
BNE lxges= PRFRT o o © ) ) )
128 \ 21 2
TAZE 0
% |FIE=RE 56
R (XSS =E 0
HhIREZ @ 0
e |Fm BR 2
ETXTHFIET= IR 2 4 =) =) =) =)
X =8 |- 0
=2} i 2R 0
s A AT FE = IR 1 8 =) ) =) (=)
108 | & = [- 7
L=} &m,xa 0
248 FFIHF= FR 0 1 =) =) =) =)
=8 |- 1
AR 0
Y | FREZRE 167
H(FSSRE-E 0
HIRZ=E 0
i . AR 7
L thyrFes= RBZE2T 4 w0 O -) -) -)
] HH |- 29
- . }x 1
R | 2 ez [PBREXT 3| o ) ) )
24H < N 1
T3i=E 4
4 [F<F=RE 623
H(FSSIE-E 0
HhORE_E 0
\ = 2R 1
FANTF<E= R 6 43 =) (=) =) (=)
X =8 |- 36
=2} FRESD 4
s | BEFTFAFREZ IR 4 9 ) =) =) =)
1MA | & =1 |- 1
= g 22 2
148 ErYRTIEZ R 0 2 ) =) =) =)
=R |- 0
I7=E 27
% | FIEZR 467
B (FS5XF=E 0
HIREZE 0
pe3 1 FEO—BELTEEBROIUMNTHELLTY OB R VRREORERRESELLTABALTVET,

2 FRRUYROMADBFEFITEEEA,

3 HROBRFREREEELTVEREA,

4 RERERTRORRELL. BIER (+) . BEE(—) TRRLTVET,
SLBERNRE - S BV 557
HAKLBEEN, FELA T 7 A, o — [LALBE 2L

HRLUT BIR A
FTALIG, EFHEL
*SETSTA VA

FEE B i/ R R
B AR T A LA

e VN HETS

2/3



ERBAICETAIF—DERKRRERBAZTORRICOVT(FH28FE)

T = SEAE | AIBEEEE 5
B &5t SFTS o g N
AR | 42
erriFva= PR FT 27 e -) -) -)
=8 |- 0
. B AR 10
) TAHETFIE = IR 4 56 ) (=) =) =)
g =k |- 42
- |AX 1
- |rFes= RBZE2T o 1| o -) -) -)
12 | & =i |- 0
L Ty B 5
128 ErVRTTEZ IR 0 5 Q) ) =) =)
=8 |- 0
<H=m pm 221 O . -
—E(F8) * R 1 1 REMEYMDREILRER
=8 |- 0
I53=E 1
% [F<F-RE 130
R |FSSTYIZRE 0
HhOIZ 0
- AR | 27
’;{Z errhFea= PR Fx T 5 32| @ -) ) -)
] =8 |- 0
- — |[AX 2
2R | E Arrres= REBIZZT—5 s O -) -) )
| |- 32
% | FIEZRE 3
R |FSSTYIZRE 0
HhOIZ g 0
. . oA AR 71
ESFHFIE= X 52] 123 =) ) =) =)
= |- 0
R 8
FAHETFIEF = IR 6 87 =) (=) =) (=)
=W |- 73
. . AR 1
Rolesesr=  P2HRT 0 4 O ) =) )
; =8 (- 3
- AR 0
BN E lrerges= REZT— 1| o -) -) -)
=8 |- 0
¢H : oo P20
YIhv5 = IR 0 1 =) =) =) =)
= |- 1
o PR 0
ErNYRTTEZ F R 0 1 =) (=) =) =)
=R |- 1
YE=R 0
# |FRE=—E 458
H (XSS5 =E 0
HIRF=E 0
pe3 1 FEO—BELTEEBROIUMNTHELTY OB R VRREORERRESELLTABALTVET,

2 FRRUYROMADBFEFITEEEA,

3 HROBRFREREEELTVEREA,

4 BEXMRETEROBAKBEL, BIEE(+) . B (—) TRRLTVET .
SALBEENE - BB o F T
A AHLEEEL, FELATF 7 A, iy — [LALBEEL

HRLUT BIEIER
FTALIG, EFHEL
*SETSTA VA

FELE B I/ SRR B E AR
B AR T A LA

e VN HETS

3/3



